Minnesota State-Revenue Fund Proposed Room and Board Fees FY 2026

		R&B		R&B	Percent		\$
	I	FY2025		FY2026	Change		hange
Bemidji State University	\$	8,365	\$	8,656	3.5%	\$	291
Minnesota State University Moorhead	\$	10,126	\$	11,296	11.6%	\$	1,170
Minnesota State University, Mankato	\$	11,055	\$	11,875	7.4%	\$	820
St. Cloud State University	\$	9,870	\$	10,366	5.0%	\$	496
Southwest Minnesota State University	\$	9,398	\$	9,774	4.0%	\$	376
Winona State University	\$	10,020	\$	10,240	2.2%	\$	220
Vermilion Community College**	\$	6,960	\$	7,380	6.0%	\$	420
Average (double room & board)	\$	9,806	\$	10,368	5.7%	\$	562

^{**} Vermilion is not included in average

	Ар	Approved		oposed	Percent	\$	
	F	Y 2025	FY2026		Change	С	hange
Bemidji State University	_						
Double Room	\$	6,268	\$	6,456	3.0%	\$	188
Single Room	\$	7,298	\$	7,516	3.0%	\$	218
Suites	\$	7,740	\$	7,972	3.0%	\$	232
200 meals	\$	2,097	\$	2,200	4.9%	\$	103
Flex Dollars included	\$	370	\$	370	0.0%	\$	-
Summer Session (per week)	\$	190	\$	200	5.3%	\$	10
Minnesota State University Moorhead							
Double Room	\$	6,236	\$	7,250	16.3%	\$	1,014
Single Room	\$	6,491	\$	6,622	2.0%	\$	131
Unlimited (Sodexo)	\$	3,890	\$	4,046	4.0%	\$	156
Flex Dollars included	\$	300	\$	300		\$	-
Summer Session (per Day)	ф	00.01		404.0 0	4.007	Φ.	
Double as Single	\$	20.01		\$21.00	4.0%	\$	1

Minnesota State University, Mankato							
Double Room	\$	7,705	\$	8,205	6.5%	\$	500
Single Room	\$	10,245	\$	10,910	6.5%	\$	665
Anytime Plan	\$	3,350	\$	3,670	9.6%		320
Flex Dollars included	\$	100	\$	100	0.0%	\$	-
At the end of this summer (2025) Mankato will have re	novat	ed all of th	eir c	lorms			
Summer Session (10 weeks)							
Double	\$	1,570	\$	1,670	6.4%	\$	100
2 canto	Ψ	2,070	Ψ	2,070	3.170	Ψ	100
St. Cloud State University							
Double Room	\$	5,672	\$	5,956	5.0%	\$	284
Single Room	\$	6,998	\$	7,350	5.0%	\$	352
AnytimePlan (Chartwells)	\$	4,198	\$	4,410	5.1%	\$	212
Flex Dollars included	\$	100	\$	100	0.0%	\$	-
Summer Session							
Single Room per week	\$	75	\$	85	13.3%	\$	10
Southwest Minnesota State University							
Double Room	\$	5,464	\$	5,682	4.0%	\$	218
Single Room	\$	7,094	\$	7,378	4.0%	\$	284
14 meals a week	\$	3,934	\$	4,092	4.0%	\$	158
Flex Dollars included	\$	300	\$	300	0.0%		-
	•		•				
Summer Session (Apartments)	\$	1,500	\$	1,500	0.0%	\$	-
Vermilion Community College**							
Doubles	\$	4,800	\$	4,900	2.08%	\$	100
Singles	\$	6,300	\$	6,500	3.17%	\$	200
10 meals / week	\$	2,160	\$	2,480	14.81%	\$	320
	•	,	•	,	· •	\$	-
						•	

Winona State University

Double Room Single Room	\$ \$	6,280 7,080	\$ \$	6,400 7,200	1.9% 1.7%	120 120
14 Meals a Week	\$	3,740	\$	3,840	2.7%	\$ 100
Flex (Basic Mandatory) included	\$	400	\$	400	0.0%	\$ -
Summer session	\$	310	\$	310		\$ -

Summer housing will be in East Lake which is Foundation operated

Rates noted above are based on the most common traditional-style room and most popular board plan. Each university charges room and board rates based on the room type and amenities.

^{**}Vermilion Food Service is not in the Revenue Fund

Minnesota State-Revenue Fund Proposed Student Union Facility Fees FY 2026

	Number of	Rate Per	Approved	Number of	Rate Per	Proposed	Percent	\$
	Credits FY 2025	Credit FY 2025	FY 2025	Credits FY 2026	Credit FY 2026	FY 2026	Change	Change
Bemidji State University	24	\$12.50	\$300.00	24	\$12.50	\$300.00	0.00%	\$0.00
Metropolitan State University	44	\$8.50	\$374.00	44	\$8.50	\$374.00	0.00%	\$0.00
Minneapolis Community & Technical College	32	\$7.50	\$240.00	32	\$7.50	\$240.00	0.00%	\$0.00
Minnesota State University Moorhead	24	\$15.34	\$368.16	24	\$16.50	\$396.00	7.56%	\$27.84
Minnesota State University, Mankato	24	\$10.43	\$250.32	26	\$10.01	\$260.26	3.97%	\$9.94
Normandale Community College	30	\$7.50	\$225.00	30	\$7.50	\$225.00	0.00%	\$0.00
St. Cloud State University	18	\$17.40	\$313.20	18	\$17.92	\$322.56	2.99%	\$9.36
Southwest Minnesota State University	24	\$16.63	\$399.12	24	\$17.13	\$411.12	3.01%	\$12.00
Winona State University	32	\$9.81	\$313.92	32	\$10.40	\$332.80	6.01%	\$18.88
Average Fee		\$11.73	\$309.30			\$317.97	2.80%	\$8.67
Maximum Fee			\$399.12			\$411.12		
The total maximum is the amount for the academic year only. Summer or other sessions are charged on a per credit bases								
St. Cloud State University (Revenue Fund Guarantees debt) Per Credit Facility Assessment Fee Funds will continue to be used for R&R to assets debt has been paid off	18	\$8.40	\$151.20	18	\$8.65	\$ 155.70	2.98%	\$ 2.88

Minnesota State-Revenue Fund Proposed Parking Facility Fees FY 2026 updated 5/7/25

		FY 25 # of Credits	FY25	FY 26 # of Credits	FY26		FY25	FY26	
Charge By Credit		per term	Per Credit	per term	Per Credit	% Change	Annual	Annual	note
Alexandria Technical and Community College	Lot	15	\$4.06	15	\$4.18	2.96%	\$121.80	\$125.40	Surface Lot; All students charged except online and off campus internships
Century College *	Lot	15	\$3.67	15	\$3.67	0.00%	\$110.10	\$110.10	Surface Lot
Normandale Community College	Lot, Ramp	15	\$9.50	15	\$9.50	0.00%	\$285.00	\$285.00	Ramp; All students charged
Saint Paul College	Ramp	15	\$9.33	15	\$9.33	0.00%	\$279.90	\$279.90	Ramp; all students charged
Metropolitan State University	Lot, Ramp	22	\$13.00	22	\$13.00	0.00%	\$572.00	\$572.00	Ramp; Open in FY16; all students charged
Average						0.59%	\$273.76	\$274.48	
								\$0.72	
Charge by Use			Per Day		Per Day	% Change	Annual	Annual	note
Minneapolis Community and Technical College	Ramp		\$2.50		\$2.50	0.00%	\$265.00	\$265.00	Ramp; \$5.00/cash (non-contract)
St. Cloud State University	Ramp		\$12.00		\$12.00	0.00%	\$525.00	\$525.00	Ramp; \$1.50/hr; Max \$12 day/\$3.00 Evening After 6/\$5.00 Weekend Day Flat Rate

Average full time student cost based on 129 days of parking

^{*}Century paid off their bond in FY19 There is no cap on credits

Minnesota State-Revenue Fund Proposed Wellness Facility Fees FY 2026

	Number of Credits FY 2025	Rate Per Credit FY 2025	Approved FY 2025	Number of Credits FY 2026	Rate Per Credit FY 2026	Proposed FY 2026	Percent Change	\$ Change
Anoka Ramsey Community College	30	6.05	\$181.50	30	6.05	\$181.50	0.00%	\$0.00
Anoka Kamsey Community Cottege				30	0.03	Ψ101.50	0.0070	
Minnesota State University, Mankato Annual Outdoor Rec Facilities/Sports Dome	24	\$3.33	\$79.92	26	3.07	\$79.82	-0.13%	-\$0.10
·	0.4	444.0 5	4070.00	0.4	10.10	\$200.40	0.000/	440.00
Minnesota State University Moorhead	24	\$11.65	\$279.60	24	12.10	\$290.40	3.86%	\$10.80
Minnesota State Community & Technical College	30	\$6.00	\$180.00	30	6.00	\$180.00	0.00%	\$0.00
Winona State University	24	\$8.21	\$197.04	24	8.62	\$206.88	4.99%	\$9.84
Average		\$7.05	\$183.61		\$7.17	\$187.72	2.24%	\$4.11